N of reco track vs dxy(PV)

10°F i
10°F i-
10°F i
10F
1= '
Luop 1 1 1
) Y ALk
0 Hl ;
“=25-20-15- 10 15 20 25

N of associated (recoToSim) tracks vs dxy(PV)

10°

10?

10

i

10*

%95=20-15-10 -5 0 5 10 15 20 25

N of associated (recoToSim) looper tracks vs dxy(PV)

095t s MIMGME {5 § o

—— DQM_Original
[Nofresomackvsd —— DQM_Modified

TN, eI
H\%HHHH\%HHHH\%HH\HHHH

|
|
|
i
I
T
|
!
|
1-

10*

©
i

UGl
LA gl

H_-___ Py

o
=
o
N—cc—e
OoF———

0% 20 -10

N of associated (recoToSim) tracks vs dz(PV) |

5=50-15-10 5 0 b5 10 15 20 25 5=26-15-10 -5 0 5 10 15 20 25

[

0.95

._‘44444 T

HHH\HHHHH\HHHHHHHHH\HHHHH

-1 08—06—04—04 0 0.20.40.

10

o

illIIIIIIIEIIIIIIIIIiI I

-30 -20 -10 O 10 20 30 0¥/ 20 -1

N of associated (recoToSim) looper tracks vs dz(PV)




	Contents
	Page 1


